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1. (10 points) If A < B and y = 3e”® + 2% is a solution of the differentia]
equation ¢ + 2y — 3y = 0. Find A4 and B.
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2. (10 points) Solve the initial value problem

dy 2
-ty =2 :1:/2, 0) = 2.
Xt oy = 2061, 4(0)
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3. (10 points) Find the general solution of the differential equation
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4. (10 points) Use the method of Gauss-Jordan elemination to solve the system
©1+ 32y + 3ay = 13

2x1 + 52?2 +dxy =923
221 -+ Txy + 8z5 = 29
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5. (10 points) Solve the initial value problem

dy ay+3z-y-—3
dr  zy—2c+dy -8

y(0) =1
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© 6. (10 points) Solve the initial value problem

dy _ o

Rl T T y(0)=1.
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7. (10 points) Verify that the differential equation
(y* + cosz — 1) dz + (2my + cosy + Ddy=0

Is exact and then find its general solution.
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8. (10 points) Determine for what values of & the system
TH2+2=2
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455'4‘33;—2’:]{;
has

a) a unique solution b) no solution ¢) infinitely many solution.
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